

DISTRICT 1 16161J NON-FEDERAL

PROJECT: DISTRICT 1

STATE PROJECT NUMBER: 16161J

**FED. PROJECT NUMBER:** NON-FEDERAL **DATE BIDS OPEN:** February 23, 2021,

SCOPE OF WORK: Resurfacing various tier 2, 3, and 4 roadways in District 1.

COMPLETION DATE: October 01, 2021

**LOCATION:** Coos, Cheshire, Grafton

Awarded To: PIKE INDUSTRIES, INC.

3 EASTGATE PARK ROAD BELMONT, NH 03220

**Amount:** \$3,482,478.81

Award Date:

Certified by: PETER.E.STAMNAS

Director of Project Development

### **Summary of Bidders**

Contractor	<b>Bid Amount</b>	Rank
PIKE INDUSTRIES, INC.	\$3,482,478.81	Α
3 EASTGATE PARK ROAD, BELMONT NH 03220		
GMI ASPHALT LLC	\$3,513,447.48	В
288 LACONIA ROAD, BELMONT NH 03220		
J HUTCHINS INC	\$3,753,681.49	С
88 ROGERS LANE, RICHMOND VT 05477		



DISTRICT 1 16161J NON-FEDERAL

				ı	PS&E	3 EASTGAT	JSTRIES, INC. TE PARK ROAD IT, NH 03220	288 LAC	PHALT LLC ONIA ROAD IT, NH 03220
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

2024	COMMON CTRUCTURE EVOLVATION	01/	40.55	40.45	00.400.00	0550.00	040 450 00	4705 **	040 775 55
206.1	COMMON STRUCTURE EXCAVATION	CY	19.00	\$340.00	\$6,460.00	\$550.00	\$10,450.00	\$725.00	\$13,775.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	4,049.40	\$32.00	\$129,580.80	\$26.00	\$105,284.40	\$22.50	\$91,111.50
403.11043	HBP-1/2" WEARING, MM	TON	8,166.30	\$74.00	\$604,306.20	\$70.00	\$571,641.00	\$72.40	\$591,240.12
403.11953	HBP-3/8" WEARING, MM, HIGH STRENGTH	TON	192.00	\$82.00	\$15,744.00	\$85.00	\$16,320.00	\$145.00	\$27,840.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	70.60	\$250.00	\$17,650.00	\$125.00	\$8,825.00	\$155.00	\$10,943.00
403.129	HOT BITUMINOUS PAVEMENT HAND METHOD, HIGH STRENGTH	TON	1.90	\$250.00	\$475.00	\$1,000.00	\$1,900.00	\$260.00	\$494.00
403.16	PAVEMENT JOINT ADHESIVE	LF	46,334.00	\$0.23	\$10,656.82	\$0.23	\$10,656.82	\$0.25	\$11,583.50
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	6,159.10	\$2.15	\$13,242.07	\$1.50	\$9,238.65	\$2.25	\$13,857.98
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	20,266.00	\$2.00	\$40,532.00	\$4.00	\$81,064.00	\$3.50	\$70,931.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	23,236.30	\$75.00	\$1,742,722.50	\$72.00	\$1,673,013.60	\$72.40	\$1,682,308.12
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	1,290.00	\$76.00	\$98,040.00	\$72.00	\$92,880.00	\$72.40	\$93,396.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	35,116.00	\$4.00	\$140,464.00	\$3.00	\$105,348.00	\$2.75	\$96,569.00
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	6,691.00	\$1.50	\$10,036.50	\$1.75	\$11,709.25	\$1.75	\$11,709.25
604.0007	POLYETHYLENE LINER	EA	53.00	\$140.00	\$7,420.00	\$120.00	\$6,360.00	\$135.00	\$7,155.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	68.00	\$450.00	\$30,600.00	\$550.00	\$37,400.00	\$425.00	\$28,900.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	18.00	\$500.00	\$9,000.00	\$550.00	\$9,900.00	\$425.00	\$7,650.00
604.72	GRATES & FRAMES, TYPE B	EA	5.00	\$400.00	\$2,000.00	\$625.00	\$3,125.00	\$810.00	\$4,050.00
608.2401	4" CONCRETE SIDEWALK	SY	145.40	\$70.00	\$10,178.00	\$85.00	\$12,359.00	\$78.00	\$11,341.20
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	21.50	\$475.00	\$10,212.50	\$500.00	\$10,750.00	\$475.00	\$10,212.50
609.01	STRAIGHT GRANITE CURB	LF	10.00	\$50.00	\$500.00	\$100.00	\$1,000.00	\$75.00	\$750.00
609.5	RESET GRANITE CURB	LF	79.90	\$40.00	\$3,196.00	\$50.00	\$3,995.00	\$40.00	\$3,196.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
618.7	FLAGGERS	HR	1,787.00	\$38.00	\$67,906.00	\$36.00	\$64,332.00	\$40.00	\$71,480.00



DISTRICT 1 16161J NON-FEDERAL

					PS&E	3 EASTGA	USTRIES, INC. TE PARK ROAD NT, NH 03220	288 LAC	PHALT LLC CONIA ROAD NT, NH 03220
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$150,000.00	\$150,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00	\$1,550.00	\$3,100.00
628.1	SAWED CONCRETE PAVEMENT	LF	6.00	\$11.00	\$66.00	\$15.00	\$90.00	\$25.00	\$150.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	389.50	\$5.00	\$1,947.50	\$10.00	\$3,895.00	\$11.00	\$4,284.50
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	1,623,181.00	\$0.13	\$211,013.53	\$0.19	\$308,404.39	\$0.21	\$340,868.01
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	55.00	\$0.76	\$41.80	\$3.80	\$209.00	\$5.00	\$275.00
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	21.00	\$2.30	\$48.30	\$5.00	\$105.00	\$25.00	\$525.00
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12"	LF	902.00	\$4.00	\$3,608.00	\$6.00	\$5,412.00	\$7.00	\$6,314.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18"	LF	142.00	\$7.00	\$994.00	\$9.00	\$1,278.00	\$10.00	\$1,420.00
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	50.00	\$8.00	\$400.00	\$12.00	\$600.00	\$15.00	\$750.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	176.20	\$10.00	\$1,762.00	\$10.00	\$1,762.00	\$14.00	\$2,466.80
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	362.00	\$0.90	\$325.80	\$2.35	\$850.70	\$2.00	\$724.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	13.00	\$4.00	\$52.00	\$13.00	\$169.00	\$4.00	\$52.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	72.80	\$5.00	\$364.00	\$5.00	\$364.00	\$5.00	\$364.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	19.40	\$50.00	\$970.00	\$20.00	\$388.00	\$65.00	\$1,261.00
692.	MOBILIZATION	U	1.00	\$260,000.00	\$260,000.00	\$92,000.00	\$92,000.00	\$75,000.00	\$75,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,400.00	\$1.00	\$10,400.00	\$1.00	\$10,400.00	\$1.00	\$10,400.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
			Totals:		\$3,772,915.32		\$3,482,478.81		\$3,513,447.48
		Alt. Total							
			Totals:		\$3,772,915.32		\$3,482,478.81	81 \$3,513,447.48	



DISTRICT 1 16161J NON-FEDERAL

				1	PS&E	88 RO	CHINS INC SERS LANE ND, VT 05477		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

206.1	COMMON STRUCTURE EXCAVATION	CY	19.00	\$340.00	\$6,460.00	\$425.00	\$8,075.00	
				·		•		
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	4,049.40	\$32.00	\$129,580.80	\$24.90	\$100,830.06	
403.11043	HBP-1/2" WEARING, MM	TON	8,166.30	\$74.00	\$604,306.20	\$75.66	\$617,862.26	
403.11953	HBP-3/8" WEARING, MM, HIGH STRENGTH	TON	192.00	\$82.00	\$15,744.00	\$116.25	\$22,320.00	
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	70.60	\$250.00	\$17,650.00	\$125.00	\$8,825.00	
403.129	HOT BITUMINOUS PAVEMENT HAND METHOD, HIGH STRENGTH	TON	1.90	\$250.00	\$475.00	\$150.00	\$285.00	
403.16	PAVEMENT JOINT ADHESIVE	LF	46,334.00	\$0.23	\$10,656.82	\$0.20	\$9,266.80	
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	6,159.10	\$2.15	\$13,242.07	\$1.50	\$9,238.65	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	20,266.00	\$2.00	\$40,532.00	\$2.25	\$45,598.50	
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	23,236.30	\$75.00	\$1,742,722.50	\$75.24	\$1,748,299.21	
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	1,290.00	\$76.00	\$98,040.00	\$75.24	\$97,059.60	
417.	COLD PLANING BITUMINOUS SURFACES	SY	35,116.00	\$4.00	\$140,464.00	\$2.00	\$70,232.00	
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	6,691.00	\$1.50	\$10,036.50	\$0.20	\$1,338.20	
604.0007	POLYETHYLENE LINER	EA	53.00	\$140.00	\$7,420.00	\$145.00	\$7,685.00	
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	68.00	\$450.00	\$30,600.00	\$600.00	\$40,800.00	
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	18.00	\$500.00	\$9,000.00	\$650.00	\$11,700.00	
604.72	GRATES & FRAMES, TYPE B	EA	5.00	\$400.00	\$2,000.00	\$300.00	\$1,500.00	
608.2401	4" CONCRETE SIDEWALK	SY	145.40	\$70.00	\$10,178.00	\$90.00	\$13,086.00	
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	21.50	\$475.00	\$10,212.50	\$186.00	\$3,999.00	
609.01	STRAIGHT GRANITE CURB	LF	10.00	\$50.00	\$500.00	\$52.00	\$520.00	
609.5	RESET GRANITE CURB	LF	79.90	\$40.00	\$3,196.00	\$26.72	\$2,134.93	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
618.7	FLAGGERS	HR	1,787.00	\$38.00	\$67,906.00	\$37.00	\$66,119.00	



DISTRICT 1 16161J NON-FEDERAL

				1	PS&E	88 RO	CHINS INC SERS LANE ND, VT 05477		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$150,000.00	\$150,000.00	\$132,400.00	\$132,400.00		
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,500.00	\$5,000.00	\$3,250.00	\$6,500.00		
628.1	SAWED CONCRETE PAVEMENT	LF	6.00	\$11.00	\$66.00	\$1.00	\$6.00		
628.2	SAWED BITUMINOUS PAVEMENT	LF	389.50	\$5.00	\$1,947.50	\$1.25	\$486.88		
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	1,623,181.00	\$0.13	\$211,013.53	\$0.20	\$324,636.20		
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	55.00	\$0.76	\$41.80	\$3.00	\$165.00		
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	21.00	\$2.30	\$48.30	\$5.00	\$105.00		
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	902.00	\$4.00	\$3,608.00	\$6.00	\$5,412.00		
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	142.00	\$7.00	\$994.00	\$9.00	\$1,278.00		
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	50.00	\$8.00	\$400.00	\$12.00	\$600.00		
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	176.20	\$10.00	\$1,762.00	\$10.00	\$1,762.00		
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	362.00	\$0.90	\$325.80	\$1.00	\$362.00		
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	13.00	\$4.00	\$52.00	\$4.00	\$52.00		
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	72.80	\$5.00	\$364.00	\$3.00	\$218.40		
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	19.40	\$50.00	\$970.00	\$102.00	\$1,978.80		
692.	MOBILIZATION	U	1.00	\$260,000.00	\$260,000.00	\$225,545.00	\$225,545.00		
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,400.00	\$1.00	\$10,400.00	\$1.00	\$10,400.00		
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00		
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00		
			Totals:	\$3,772,915.32		\$3,753,681.49			
			Alt. Totals:						

Totals:

\$3,772,915.32

\$3,753,681.49



# **PS&E Comparison**

DISTRICT 1 16161J NON-FEDERAL

				A-Bid	der	PS	&E	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
206.1	COMMON STRUCTURE EXCAVATION	CY	19.00	\$550.00	\$10,450.00	\$340.00	\$6,460.00	\$3,990.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	4,049.40	\$26.00	\$105,284.40	\$32.00	\$129,580.80	(\$24,296.40)
403.11043	HBP-1/2" WEARING, MM	TON	8,166.30	\$70.00	\$571,641.00	\$74.00	\$604,306.20	(\$32,665.20)
403.11953	HBP-3/8" WEARING, MM, HIGH STRENGTH	TON	192.00	\$85.00	\$16,320.00	\$82.00	\$15,744.00	\$576.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	70.60	\$125.00	\$8,825.00	\$250.00	\$17,650.00	(\$8,825.00)
403.129	HOT BITUMINOUS PAVEMENT HAND METHOD, HIGH STRENGTH	TON	1.90	\$1,000.00	\$1,900.00	\$250.00	\$475.00	\$1,425.00
403.16	PAVEMENT JOINT ADHESIVE	LF	46,334.00	\$0.23	\$10,656.82	\$0.23	\$10,656.82	\$0.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	6,159.10	\$1.50	\$9,238.65	\$2.15	\$13,242.07	(\$4,003.42)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	20,266.00	\$4.00	\$81,064.00	\$2.00	\$40,532.00	\$40,532.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	23,236.30	\$72.00	\$1,673,013.60	\$75.00	\$1,742,722.50	(\$69,708.90)
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	1,290.00	\$72.00	\$92,880.00	\$76.00	\$98,040.00	(\$5,160.00)
417.	COLD PLANING BITUMINOUS SURFACES	SY	35,116.00	\$3.00	\$105,348.00	\$4.00	\$140,464.00	(\$35,116.00)
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	6,691.00	\$1.75	\$11,709.25	\$1.50	\$10,036.50	\$1,672.75
604.0007	POLYETHYLENE LINER	EA	53.00	\$120.00	\$6,360.00	\$140.00	\$7,420.00	(\$1,060.00)

# **PS&E Comparison**



DISTRICT 1 16161J NON-FEDERAL

			_	A-Bid	der	PS8	ķΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	68.00	\$550.00	\$37,400.00	\$450.00	\$30,600.00	\$6,800.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	18.00	\$550.00	\$9,900.00	\$500.00	\$9,000.00	\$900.00
604.72	GRATES & FRAMES, TYPE B	EA	5.00	\$625.00	\$3,125.00	\$400.00	\$2,000.00	\$1,125.00
608.2401	4" CONCRETE SIDEWALK	SY	145.40	\$85.00	\$12,359.00	\$70.00	\$10,178.00	\$2,181.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	21.50	\$500.00	\$10,750.00	\$475.00	\$10,212.50	\$537.50
609.01	STRAIGHT GRANITE CURB	LF	10.00	\$100.00	\$1,000.00	\$50.00	\$500.00	\$500.00
609.5	RESET GRANITE CURB	LF	79.90	\$50.00	\$3,995.00	\$40.00	\$3,196.00	\$799.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
618.7	FLAGGERS	HR	1,787.00	\$36.00	\$64,332.00	\$38.00	\$67,906.00	(\$3,574.00)
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$50,000.00	\$50,000.00	\$150,000.00	\$150,000.00	(\$100,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00	(\$1,000.00)
628.1	SAWED CONCRETE PAVEMENT	LF	6.00	\$15.00	\$90.00	\$11.00	\$66.00	\$24.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	389.50	\$10.00	\$3,895.00	\$5.00	\$1,947.50	\$1,947.50
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	1,623,181.00	\$0.19	\$308,404.39	\$0.13	\$211,013.53	\$97,390.86
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	55.00	\$3.80	\$209.00	\$0.76	\$41.80	\$167.20
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	21.00	\$5.00	\$105.00	\$2.30	\$48.30	\$56.70

Friday, February 26, 2021 Page 7 of 8



# **PS&E Comparison**

DISTRICT 1 16161J NON-FEDERAL

				A-Bidd	der	PS8	&E	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	902.00	\$6.00	\$5,412.00	\$4.00	\$3,608.00	\$1,804.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	142.00	\$9.00	\$1,278.00	\$7.00	\$994.00	\$284.00
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	50.00	\$12.00	\$600.00	\$8.00	\$400.00	\$200.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	176.20	\$10.00	\$1,762.00	\$10.00	\$1,762.00	\$0.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	362.00	\$2.35	\$850.70	\$0.90	\$325.80	\$524.90
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	13.00	\$13.00	\$169.00	\$4.00	\$52.00	\$117.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	72.80	\$5.00	\$364.00	\$5.00	\$364.00	\$0.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	19.40	\$20.00	\$388.00	\$50.00	\$970.00	(\$582.00)
692.	MOBILIZATION	U	1.00	\$92,000.00	\$92,000.00	\$260,000.00	\$260,000.00	(\$168,000.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,400.00	\$1.00	\$10,400.00	\$1.00	\$10,400.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00

**Total:** \$3,482,478.81 \$3,772,915.32 (\$290,436.51)

Friday, February 26, 2021 Page 8 of 8